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HISTORY
( Honours )

Paper : HIS-HC-5026
[ History of India (1780-1857) ]

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

&R R I FRB1E e e o

(a) Where did the French establish their first
factory in India?

FIVPRCA TROS (SSERT 4T FRAA IS
o SRR 2

(b) Who gifted Bombay (Mumbai) as dowry to
the British?

@A T (TAR)F Age Rovt Bives Tomm
fafee 2
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(2)

() Which European country was the first to
trade by sea route in India?

L @AW GO A SO A6RE
ALY I RS ?

(d) Who wrote the book, India Today?
India Today "3 J&4 e ket 2

(¢) Who was the founder of the Sikh
Kingdom?

2 A% (@I T Pl ?

(i Who introduced the system of Daroga as
part of police reforms?

SRR A S Re WA I e
e FfEe ?

(g9 Who was the in-charge of collecting

revenue under the Mahalwari
Settlement?

TRl THIE TS G2 He2d MRS @
wfRe 7

(h) Who introduced the

(3)

() In which year was The Asiatic Society of
Bengal established?

(Pl q%9%  The Asiatic  Society of
Bengal %1%+ 341 (2f2e1 7

() Who introduced the Doctrine of Lapse?

oot NS @ 2é sRde 2

(k) Which Act ensured the establishment of
the Supreme Court in India?

(PRI 20T SRS THwy Eew Fiow F91CE
fifee fifes 2

() Which was the first Indian State to
accept the Subsidiary Alliance?

TIOE fAqer TS a5 337 SR 24293 Iy
f& =nifeet 2

(m) Name the institutions through which
indigenous education in pre-British India

Ryotwari was carried out.
Settlement?
CPICT TR TG 226 ffie ! P TSt <
1 AfSBPTYET =T fors |
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(4) : (5)
(n) Which of the following statements about (@9 Write any one impact of commer-
the Revolt of 1857 is incorrect? cialization of agriculture in India.
Sveq b FREER 1 S s B et 2 oFee I MARTRTE R @ < gor
ferm 1

() Absence of all India participation

T2 SRS ST TS () Where did the Revolt of 1857 start?

(i) Lack of unity between the Hindus Sreq 59 ReuR 97 e Cafee 2
and Muslims

27 A TREMAe T dTR TR
(i) Begum Hazrat Mahal lead the Revolt 2. {\nswer any five of the following questions
in Bhopal in brief : 2x5=10
A S T oS R - O RPTRA R AT +A657 B Taq fay
T2 TR (a) Me.ntion_ any two differences between the
( Choose the correct answer Orientalists and Utilit_arians.
( = e AR Shieq ) : ABRM & SoAfeR oS i @A o
KRR I
(o) Write any one economic impact of British :
Colonialism in India. (b) Write two causes for the introduction of
P the Permanent Settlement in Bengal.
eree fifie SR & o1 THTS foTm I aradar TR 1 T Bt
S g foey |
(¢) Why was opium cultivation important for
(p) What was Damin-i-Koh? the British empire in India?
-2~ & e 9 sRee fifty TEER I e @ Ry
. BFg fee 2
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(6) (7))

(d) Choose and writ . (7 What is shifting cultivation ((hum)? Was
% bt W&ﬁ_; the correct answer : it preferred by the British?
: TRRe cfe (|W) R B T U=
Wthh. of the fOHOWing Crops was brought W ?
to India by the Portugyese»
O PR B g eprece wrater et 2 (9) What is deindustrialization?
) Mango / wg Rermiiess 2
@) Chilli ; TR
(i) Rice / ym (h) Who annexed Awadh in British Empire?
iv) Tomat | Who was the Nawab of Awadh when it
ato / R was annexed? ,
(e) Mat | T Rivr sTrere seaie wikazd ke
atch the following . SRAZR S SR TR I SR ?
TS et e
Column—a v ) Name two leaders of the Revolt of 1857.
T ~C°l"mnq—B Sred R ReEIRT o TR W ford |
O Poverty ana unpring, William Jones
Rule in Ingig (Book) am Jon () Name the two leaders of the Santhal
Poverty ang un-Britisp, Ty cwm Uprising.
" fh“’e””"d'a(ﬂi) DIt RERA T GO T e |
L/ € Asiatic Sop ' .
Benga_l Ociety of 2 Dadabhai Naoroji .
7 afRafis R g C‘R‘Wf TSR TSIl 3. Write. short notes on any four of the
(i) Fort William . following : 5x4=90
S By () Madras (Chennai) @ R e BiRbr eos 5y Gt ot -
(iv) Fort St, George (@) (@) Mercantilism
@ TS wet ‘ 4 calcutta (Kolkata) Te—
T (FATON)
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(8)

(b): Indigo Cultivation
W

(c) Subsidiary Alliance
PIOREE figer A
(d) Police Administration in India under the

East India Company
- ORES R eq @ wers I 2
(e) Mahalwari Settlement
TR Ty

() Rural Indebtedness
ARG FeEme]

(9) Macaulay’s Education Policy
Macaulay? fa Sify

(h) William Jones
Tformr g

(9)

4. Answer any four of the following questions :
10x4=40

O 2P R e B e

(@) With reference to the Carnatic Wars,
discuss about the Anglo-Mysore
relations.

FfbS @R WS AW UE VEA W
ok R et 341 1

(b) What were the factors that led to the
conflict between Mir Kasim and the
English? What were its outcome?

Ty owF TR WwS wErer IRT R
IfReT 7 TS Faret R wifde 2

(0 Discuss the orientalist perception of
India in the late 18th and early 19th
Centuries.

v PR CTIFET WF 3> MRPR A

ACTSGRTFTR SIS 41 T 4R ey
el
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(d)

(e)

(g)

(h)

(10 )

ari
Critically ~ discuss about Ryotw
Settlement.

TR TR o ST T
SAICERT |

Critically discus

in of
s the theory of ‘Drain 0
Wealth’,

RIGERL G
SRR |

Was there

. . dia
deindustrialization in In
during the

Period of your study?

AR T p— R’
tﬁ%’fﬁﬁb?

Discuss g,

ines
ut the occurrence of fam
In Indig gy

ring the period of your study-:

AR RS sRee @El A
%WWI

; ) of the
Discuss the cayges for the failure
Revolt of 1857

(11 )

the forest policy in
' ite an essay on .
Y ggia during the early 19th century

vy AfSPR HESACS TGS JH-Afeq [FIT 93
o1 forat |

)  What were the causes of the Santhal
4 Rebellion?

leel feazd FEPHR [ wifee 2
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